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Reteaching
[image: image23.png]



Can the ASA Postulate or the AAS Theorem be applied directly to prove the triangles congruent? 
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a. Because (RDE and (ADE are right
b. It is given that 
[image: image2.wmf] and (F = (C. 
angles, they are congruent. 
[image: image3.wmf] by

Because (CHE and (FHB are vertical

the Reflexive Property of (, and it is given 

angles, they are congruent. Therefore,
that (R ( (A. Therefore, ∆RDE ( 

∆CHE ( ∆FHB by the ASA Postulate.

∆ADE by the AAS Theorem.

Exercises
Indicate congruences.
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1.  Copy the top figure at the right. Mark the figure with the angle congruence and side congruence symbols that you would need to prove the triangles congruent by the ASA Postulate.
[image: image27.png]


2. Copy the second figure shown. Mark the figure with the angle

    congruence and side congruence symbols that you would need

    to prove the triangles congruent by the AAS Theorem.
3. Draw and mark two triangles that are congruent by either the ASA Postulate or the AAS Theorem.
What additional information would you need to prove each pair of triangles congruent by the stated postulate or theorem?
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4. ASA Postulate                          5. AAS Theorem   
                 6. ASA Postulate
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7. AAS Theorem

    8. AAS Theorem     

    9. ASA Postulate
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Reteaching (continued)
10. Provide the reason for each step in the two-column proof.
Given: 
[image: image5.wmf], 
[image: image6.wmf], (XTU ( (WVU, (UWV is a right angle.
Prove: ∆TUX ( ∆VUW
	Statements
	Reasons

	1) (UWV is a right angle.
	1) [image: image7.png]




	
	2) [image: image8.png]




	
	3) [image: image9.png]




	
	4) [image: image10.png]




	5) (UXT is a right angle.
	5) [image: image11.png]




	6) (UWV ( (UXT
	6) [image: image12.png]
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	8) (XTU = (WVU
	8) [image: image14.png]




	9) ∆TUX = ∆VUW
	9) [image: image15.png]





11. Write a paragraph proof.

Given: 
[image: image16.wmf]
Prove: ∆WXY ( ∆YZW

12. Developing Proof Complete the proof by filling in the blanks.

Given: (A ( (C, (1 ( (2

Prove: ∆ABD ( ∆CDB

Proof: (A ( (C and (1 ( (2 are given. 
[image: image17.wmf] by [image: image18.png]


.
So, ∆ABD ( ∆CDB by [image: image19.png]


.

13. Write a paragraph proof.
      Given: (1 ( (6, (3 ( (4, 
[image: image20.wmf]
      Prove: ∆LMP ( ∆ONP
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